% | :J_—'P g *.\; = Negativa exponenter pd 10

hammn: Datum: Poing;
1073 = 3 x 1003 =
1000 = 5% 10° =
1002 = 1% 102 =
9% 10° = 1002 =
236+ 107Y = 1009 =
7x100Y = 6% 1004 =
100 = 3x10° =
659 + 1072 = 405, 6 x 1009 =
5% 1072 = 560, 8 x 10 =
794,9+100% = 1009 =
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namn: Datum: Poing:
107 = 0.001 3 x 107 = 0.003
1077 =0.1 5x10°=5
1072 = 0.01 ~1x 107 = -0.01
9x10°=9 1072 = 0.01
236 + 107 = 2360000 107% = 0.001
7% 107% = 0.0007 6 x 107% = 0.0006
107 = 0.0001 3x10°=3
659 + 102 = 65900 405, 6 x 107% = 0.04056
5% 1072 = 0.05 560, 8 x 10" = 56.08
794,9 + 1072 = 79490 107 = 0.0001
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